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SECOND REV|SION TEST - 2025

A

Standard Xl

‘Give an account of Go phase?"

Time:3.00hrs BlOLOGY ) .7 Marks:70
S TN Part - | (Bio-Botany) = . Marks: 35
\ N . Section - [ '
Answer all the questlons v s L R :
I Choose the correct answer = - = - am T o 8x1=8
1. AgarAgarobtained from RRNDRIREIRAE | e :
a) Ascophyllum ~ b) Chara oA c) Fuous © ., d)Gelidiella
2. Protoplasm was first observed by ' S
a)Hardy b)Hugovanmohl | c) Cortl e vitid) Huxley
3. The taxonomy wh|ch involves the S|m|Iar|t|es and dlSSImllarltleS among the immune
» system of d|fferent\taxa is taxa is termed as;’
cha) Chemotaxonomy W i " b) Molecular systematlcs
- ©) Serotaxonomy - . e bed) Numencal taxonomy
4. 'Bryophyllum and Droscorea are exa_mples for: ! | : 3
.. a)Cauline bud, apical bud - 2 [ b) Follanbud aplcal bud =
c) Cauline bud, foliar bud S d) Follar bud Cauhne bud _
Stomata of a plant open due to. | R :
a) Influx of CI ~ )Inﬂux of K+ LR c) lnﬂux ofOH s d) Efﬂux of K*
b lsagaseous phytohormone i '
a) Cytokinin - .~ b)Auxin'; IR c) Ethylene by d) Glbberellm
IdentrfytheArchaebactenum g T
.. ‘a) Treponema b) Acetobacter ; i g) Methano bactenum d) En/vlnla
8. The correct sequence in cell.cycle i IS, 4 _'
wa)MGGS | b)SMGG c)SG-GM d)G SGM
| Sectron -II AR _
! ‘Answer anyfour questlons ' Bt ‘ . 4x2=8
9.. Mention two characters shared by gymnosperms and anglosperms \

Draw and Label the parts of regions of root..
What do you know about NPK fertilizers? = W
What is binomial nomenclature Grve an example
What are tyloses? D & i
What is vernallzatlon’?

Sectlon - lII RPN :
Answer any three questlons (Q No. 19 rs compulsory) X8 - 3x3=9
Differentiate tracheids and fibres? "l G RN S SR :
List out any three functions of Nucleus.: ) \
Write the differences between Sap wood and Heart wood
Descnbe cyathium mﬂorescence with neat dlagram

| Sectlon - IV REVTER ‘ )
Answer all the questions. i T BN : ! 2x5=10"

.‘/a) Write the physiological effects of Cytokrmns SR ~ " (OR) .
[ ’b) ‘Briefly discuss on five, kmgdom system of classmcatlon Add a note on its merits

..and demerits.

. a) Explain the insectivorous mode of nutrltlon in anglosperms »‘ | (QR)

b) Draw the outllne of Bentham and Hooker classrfrcatlon
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/5 2 ? " XIBiology
PART. | (Bio-Zoology) - - 'Marks: 35 -
' Sectlon -1 501 ,
Choose the correct answer 3;« G- 1 S 8x1=8
Who coined the term blodlversny?é , 3 L
a) Walter Rosen.  b) AG Tansle ‘c)Aristotle . - d)AP de Candole
The limbless amphibian is ’r . e

“a) Icthyophis b) Hyla Y ' c)Rana d) Salamander

Presence of gills in the tadpole of: frog |nd|cates that / ,
a) fishes were amphibious in the past ' b) fishes evolved from frog like ancestors

c) frogs will have gills in future ;f‘i,f" .,/ d) frogs evolved from gilled ancestor
Match Column | with Column I and choose the correct option. \

Column | : o0 Column i ‘

P) Small intestine TR 1) Largest factory .
Q) Pancreas ‘ - ';’" ii) Absorption of water
R) Liver i - = gjjiii):Carrying electrolytic solution
“{/iv) Digestion and absorption

a) (P-iv) (Q-iii) (R-i) (S-ii) Jaien b) (P-#i) (Q-ii) (R-i) (S-iv). -

c) (P-iv) (Q-iii) (R-ii) (S-i) -’;':»5;:’ v d) (P-ii) (Q-iv) (R-m) (S- |)
CO, is transported through blood to lungs as o :

)Carbonlc acid. B b) Oxyhaemoglobln

c) Carbamino haemoglobin Keeriy, d) Carboxy haemoglobin
Which of following WBCs are found in more numbers? - i
a) Eosinophil b) Neutrophll c) Basophil* d) Monocyte -
Malpighian tubules remove excretory products from . = .
a) mouth b) Oesophagus c) haemolymph j d) allmextary canal
Which one of the following is not an endemic species of earthWorm‘7 :

‘ )Perlonyx b) Lamplto '~ ©)Eudrillus d) Octochaetona

Sectlon-ll ‘
AnswerAny four questlons , ; AR i 4x2-8'-
‘Compare closed and open crrculatory system S TEL s b

10. What are called palmaris muscle? - A M G

‘What are the components of blood in frog?

12.-Why are Villi present in the intestine and not in the stomach’? :

Tabulate the functions of brain. lobes

erte the Symptoms of Cretlnlsm ;
Sectron-lll : Y7t et

lll Answer Any three questlons (Questlon No.19 is compulsory) § -y 3x3=9

Give the economic importance.of lac insect.

Write 3 types of salivary glands. '

Why is the blind spot called So? .
What are the different types of rib bones that form the rib cage’? {

Drawa neat labelled dlagram ofneuron SORICYRORES DA ‘ .
Sectlon-lV 8 TR

Answer all the questlons Aok N 2xE510

a) Dlstlngwsh inspiration and explratlon v MR e (ORY)
b) Explain the structure of skeletal muscle. SN 4
a) Explain the structure of thymus gland with dlagram (OR) forit
b) erte the characterlstlcs of cultivable fishes. SR Kl

kol Ld ( ‘ , o

Knidly Send Me Question & Answer Keys to Us: padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

